WHEN A MAN RUNS ALONE IT IS CALLED RACE,BUT
WHEN HE RUN WITH GOD IT IS CALLED GRACE.

MAT 112 PRACTICE QUESTIONS

(1)  Find the derivative of y=3x’sinx (a) 2x (xcosx+2sinx) (b) 6x(xcosx + 2sinx)
(c) 3x(xcosx+2sinx) (d) 6x(xsinx + 2cosx)

(2) Find the value of 2 of the equation 3(x*+y?)> 100xy at point (3,1) (a) -9/13

dx

(b) 13/9 (c) 9/13 (d) -13/9

- 42
(3)  Find the derivative of y= xA1—x? (a) % (b)) w
- Vvil-x
x (2-32%) x (2+3x%)
(C) V1-x2 (d) V1-x2

(4)  Find the derivative of y= sin®4t. (a) -12sin’4tcost (b) 3cos4tsin4t
(c) 12sin®4tcosat (d) -3cos4tsin4t

(5) If d’y/dx’ is greater than zero, we have a point (a) minimum

(b)maximum (c)infinite  (d)zero
(6) if y =5x+3, find y'(inverse of y) (a)g%x (b)-le,g (c)ﬂ':s;3
Sx—3
()=
(7) Integration is the of differentiation  (a)power (b)inverse
(c)opposite (d)factor
(8) The formular of integration by part was derived to be? (a)
Judv= [vdu—uv(b) [udv=uv+ [vdu (c)[ udv = uv — [ vdu

(d)[ vdu = uv — [udv

(9)f; x(x*+1)%dx  (a)-8/15  (b)15/7 (c)-15/8 (d)15/8



(10) [ sin’3xcos3xdx (a)-1/3sin’3x(3sin3x)+c (b)1/9sin®3x+c (c)-
1/9sin*3x+c (d)2cos3xsin3x+c

(1)Y =tan x ——?(a)m.n x(b)sn x (C) Secx(d)sef X

(2) lim,_. 2= (a)infinity (b)o (c)3 (d)6

x=3
((3)Differentiate xsinxcosx (a)xcosx — sinx (B)eosx — sinx (¢)xcosx (d)xcos + 2sinx

(4)The gradient of the curve
4x24+2x + 3at x = —2is (a)15(b) — 15 (c) — 14 (d)none of the above

(5)f1frx dx is (a) —x + ¢ (b) _1Ir"x: clinex + e (d)x® + ¢

x° (a) 2x(x+1) ( :]4.1'::1+:Lj . fx? +2x 2x(x+1)
Ix+1 (2x+1) [2x+1)2 [2x+1)2 (2x+1)°

(6)find :—i if v=

(D dif ferentiate v
= (2x? +3x - 1)¢ {ajS{Exi + 3x — 1_32 (B)12x + 9 ()(2x2 + 3x — 1)2(12x + 9) (d)
—3(2x 4+ 3 -1 (4x 4+ 3)

dv
(8) find I}r if = sin?(x? 4 1)(a) 4xsin(x? + 1)(b) 2sin(x? 4+ 1)(c) Cx + 1)eos?(x? 4 1)(d)no answer

(9 differentiate y = cosx {a]

(10)fﬂd =L if y = sin™* 4x (a)7 (b) ——(c) - (d)

W 1-16x2 ¥ 1—16x2 Wi- 15.1:2

(11)

what is the equation of the curve of gradient 8x + 2 at point (1, —2)7(a)8x? + 2x + 8 (B) 4x? — 2x —
glo)2x? +2x +8(d) 2x’ + x — 4

(12)tim,._, [I' is (a)infinity (B)1 (c) — 1 (d)zero

(13) limx_m% is (@)infinity (B)1 (c) — 1(d)zero

(14) tim,_; e™ is (@)e® (B)3e° (c) & (d) &°

(15) tim,.. “”3% is (@)infinity (b) zero (c) @ /3



(16) l[mr_,_l{r”i:;) (a)infinity (b)zero (€)1 (d) — 1

x2+3

(17)l[mx_,f{3.r —tan x) (a)1 —uf (b:]?— 1 (c) tanf —qf (d)no answer

(18)
fﬁdr (@) +3InB+x)+cB)3Inlx +5) +%ln{2x + 1) + ¢ lc)no answer (d)3 Inl7x + 8) +
%ln{?x +1)+¢

(3x+15

e + eldino answer

(19)/Bx + 2)*dx (a)4(3x + 2)* + ¢ (B)12(3x + 2P + ¢le)

(20)] sin® x dx(a) %— cosx + c(b)2sin®xcosx + clc) sinx + x + cld)no answer

(21)

dif ferentiate x*cosx (a)3x’cosx— x?

ginxe (b) 3x%sinx + x%cosx(c)3xcosx + xsiny (d)3x*sinx — x*COS

X
(22)find the derivative of log(sinx? )with respect to x(a) icusx:{ijxmtxz{cj i{l':'gg cosx?®)

(d) 2xlog {cusx::]
(23)evaluate ummx;‘—f (a)0 (b)1 (c)2 (d)infinity

D‘?:I (g) In(3 + sinx) + c(b) >

C
S+ EL

(24)integrate

(S+8inx] +c(c) In(5 + sinx) + ¢ (d) i In(5 + cosx} + ¢

(25)tim,; 7= (@)1 (o (D oo(d)

(26)Evaluate [ e+ dx (@3 ()1 T (@) T

(27) find [ .:;—dx {ajisin'l(%) {Ezjis{n-l {%){fjims—l(%) {d:]l_;ﬁﬂ_j'{!?rj

+ gl

_— i dy tirost+3t°-3zindt t2 cost —3t% sint +3ros3t
s = F2 = M — 7 —_
(28) v = t3sint+cos3t x = 2t — cost find . (a) - () -
(29):-‘#' :x;‘- < 0, . v point ocour. (a)minimum (b)maximum (c)dorminant (d)mini — maximum

(30)if x* + ¥ = sinx find L atpomt (0,2)(a) = (B) 1 () 4(a) — 4

(31)fmd j_i whenxy + y* = sinx at point {U,E]{aji(b)_?j' (c) %{d:] _?L



(32)

determine the value of i% at the stationary point of the equationy =x + 2x% + x + 3(a) —
6(b) 4(c) — 4(d)6

(33)

find the area of the region under the line vy = 2x + 1 over the inferval 1 =x =
3(a) —12(8)11(c)9(d) 10

(34)reduction formular is derived from ........... ...(a) dif ferentiation

(b) integration by part (c) quocient rule (d)explicit rule

(35)fﬂd the area of the curve y = cosx between x = Qand x = Hlfp(a)l (b) 1 (C)2 (d)—

(36)
find the volume generatedwhen the plane figure bounded by y =
Scos2x, the x — axis and ordinate at x =0 and x =

" E rotates about the ¥ — axis through a complete rev —ﬂ-’z':c':] %R’E{d]%ﬂ?:

'JL

du
_'_ , , o du iy du i @TETE ()
(37)if v L'L ith respect to u, v is given as: {a.]udx v ':f]jbdr u— (GRS = (d) =

(38)if v = s.ﬂp, : is 7 (a) sin®p(b) — sinp(c) cosp (d) — cosp

(39)ifir v = stﬂ'1=1-_r, is 7(a)- (b) — (c) 2 (d) =

J1—ax? W L+axd 1162z ' /NTeiex

(40)f =*dx (a)4x® + ¢ (aj%i +c(c)§ +c(d)%



